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Run 4489 quartetwise, Asyms0 (Raw): All
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Run 4489 quartetwise, Asyms0 (Raw): Beam ON, Laser ON
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Run 4489 quartetwise, Asyms0 (Raw): Beam OFF
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Run 4489 quartetwise, Asyms0 (Raw): Beam ON, Laser OFF
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Run 4489 quartetwise, Diffs0: All Run 4489 quartetwise, Diffs0: Beam OFF
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Run 4489 quartetwise, Diffs0: Beam ON, Laser ON Run 4489 quartetwise, Diffs0: Beam ON, Laser OFF
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Run 4489 quartetwise, NegHelAccO/NSamplesQ: All
quartetwize_negHQ
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Run 4489 quartetwise, NegHelAccO/NSamplas0: Beam ON, Laser ON
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Run 4489 quartetwise, NegHelAcc0/NSamplesQ: Beam OFF
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Run 4485 quartetwise, NegHselAccl/NSamples: Beam ON, Laser OFF

quanstwisa baami_lasld nagHD

Entries 13840
Mean 6.382
Std Dew 2.159

]

2

3

4

5

B

7

B

9

MNegHelAccO/MNegHelNSamplesD




Run 4489 quartetwise, PosHelAccO/NSamplesC: All

guartetwise posHO
—_ Entries 83362
22000 Mean 6.418
20000 1 Std Dev  6.279
18000 F
16000 FH
14000 FH
12000 FH
10000
BOOO -
G000
4000
2000 ﬂ
l|::|I-|_IJ||—---I—J—|IIIII||IJ_LI II|II|':'J—||||||||III|I
0 2 4 6 B 10 12 14 16 18 20 22 24
PosHelAccO/PosHelNSamplesD
Run 4489 quartetwise, PosHelAccO/NSamples0: Beam ON, Laser ON
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Run 4489 quartetwise, PosHelAccO/NSamples0: Beam OFF
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Run 4489 quartetwise, PosHelAccO/NSamplest: Beam ON, Laser OFF
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Run 4489 quartetwise, Sums0: All Run 4489 quartetwise, Sums0: Beam OFF
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